[Xcode 4 TS Objective—C JO45 5324 A
<IERE>

@155 2—
[ETIE] WAL Y —2BFIT =] BOVNTWTED, DWDTWRN-T2DT50%FE—LET,
<61T7H>

printf("Hello, World! = %d\n ", );

printf("Hello, World! %d\n ", ):

<13~14417H>
printf("Hello, World!

%i‘l\n " 2 );

2\n"

"Hello, World!

’
/
/

printf("Hello, World! %d\n ", 2 ):

"Hello, World! 2\n "

<FHhH41TH, 2~11TE>
Hello, World! =2 + 1 = 3
cY

vl T —
printf("Hello, World! =%d + 1 = %d\n ", 2 , 3 ):

"Hello, World! =2 + 1 = 3\n "

Hello,World! 2 + 1 =3

printf("Hello, World! %d + 1 = %d\n "2 3);

"Hello, World! 2 + 1 =3\n"

@173 2—Y EEOK TRy IS UT
[74] func(2)->3
[F] func(2)=3

@181 ~<X— T»651TH ([MHELE] o 1)
[78] index=0
[iE] index=1
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@190 22— FEEDKX AT
[72]  goto Label A;
[IE] goto Label B;

@200 X— N 21T7H
[#2] — [Generate] —
[(E] — [Generate Output] —

@236 ~— TREa—F 91TH
i2]  [self. window.contentView addSubview:vl;
[E] [self. window.contentView addSubview:grafView];

@243 X— Y 07-07 1217 H
]  if (nosetIndex <= index)
[iE] if (storedCount <= index)

@246 X— FEra—F 117H
[72] static deltaTime = 0.1;
[IE] static float deltaTime = 0.1;

@250 X—Y AKX 1417H
2] cell B%K
[E] ceil B%

@253 2— Y F L 07-09 31TH
]  static deltaTime =0.1;
[IE] static float deltaTime = 0.1;

@256 X— LFEa—F 317H
[F2] static const maxGravitation=3;
[iE] static const int maxGravitation=3;

@262 <— BN 0802 FTb61TH
[72] parabolalil.deltaTime
[E] parabolalcurtIndex].deltaTime

@272 X— TEa—FNRHEL
[72] FFParabolalnfo.
[iE] FFParabolalnfo.h

@310 TE:DX FFparabola il 31TH
]  draw:lineWidth:
[(E] draw:curtTime:

<AEYR—FHA >
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<FEMY AT L>
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